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cos? 0 cos(3+0)| 1+ sin(3+ 22)sin(22 - 6)
cos(3+ 0)cos(0 —6)
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2cos ¢'C05(9,1 -a,) 2c0s(22)*cos(0—6)

=1.391

a.c

- cos 95 [1+sin(¢'+5‘: +l9& -, )] B cos(0)*[1+sin(22+34+0—6)]

ol =—-C'.K, =-30*1.391=—41.73kN/m?/m
oLy =y HK,—C'.K,, =20*6%0.478—30%1.391=15.63kN/m?/m
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a;,,z = }/'z/(p +C'KPIE (29.1)

cos2 '+0
K = ¢ 2 (30.7)

P 2
sin(@' =0 )sin(¢' +a
coszepcos(5;+@p) 1—\/ / f: (¢ P)
cos(@/7 +5p)cos(9p —ap)
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. = Zc_os (¢') cos((9p —OZP)
P cos(@p)l1+sin(¢'—5/’7—9f,+06p)

= (31.)
]

P 28Mall Joad I Y, 2ol 38¥1 (e 5L ¥ St Jus
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A8yl olasl 0=0°
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sl S i $=30°
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8.1 JUll culdane :30 .1 S

!
c,, =7 7K,

cos” (¢'+HP)
K =

P 2
in(@' =0 )sin(@'+a )
coszepcos(5/:+0p)|:’l\/ sin(¢ P)Sn(¢ P :l

cos(9P +5;)cos(9/7 —OCP)

cos” (30+0)
K = - =4.02

g { \/sin(30+3)sin(30+6):|
cos’ (0)cos(—3+0)| 1—

cos(0—3)cos(0—6)

! . _ % % _
O-p,z_7 zKp—’I8‘85 z*402=7578 2

, —
T,0=0

2
O om =7578*6=4547 kN /m" /m

Py =4547%6/2=13641kN/m
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cos(¢'+ l9p ) sin(—¢'—ap )cos(é‘;7 +9p )

1 sin(—3—30)cos(6—0)
v, =—30+arccot| —tan(30+0)+ ) |=32
cos(30+0)

o

sin(—30—6)cos(—3+0)
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cosB.cos(t)
o,=q .m./@ (33.1)
P a8Mally qilell lasald 2,a891 AS,L) Jasy

cos.cos(t)

=g —k 341
2 cos(@— 1) ah (347
k,,=k, .cos(5;+(9&)
q
YYYYYVYYVYIYLYYYYY
H M GOq,h
\ 4 \ Ve

BuS AL (e Buiong pllanils Acjga ore bl guledl 2801 :31 .1 Jad
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90-6-o'

'W+q.b

Y=o
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sin(y/ —¢') - sin[90—(l//—¢'—5; —9‘1)]
but, sin[00—(y —¢' =5 —0.)|=cos(yy — ' 5" —6.)

sin(y/, —¢)
cos(y —¢'=5,-0,)
W.sin(y,—@)
cos(y/ —¢' =5, -0,)
=p,, =(g.b). cos(;”_(lgf__;: )_93) =q.bk,, (357
[ s, —¢)
" cosly —¢'=5,-6,)

=P 4P, =W +q.b).

'—
but, P =
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plusialy Jlaall baall L ¥ Gstun Jras szl e 5,350 L8lall 2300l 655 Gl callay. g=20kN/m?

raslsS Alas
_______ {___1_9_?
Hi=6m
9.1 Jull eldasa: 34 .1 ST
J=Ji
Jlaall asui-1

6, =5°,a,=10°,¢'=30°,0. =15°

il cé.s-i
2 r_

K = cos (¢ Qa) :

in(0. +@")sin(@' —ax,)

coszeacos(5;+(9) 1+ i ¢ i ¢
cos(é! +(9a )cos(6 - )
cosz(30—5)

K,= - =0.387

sin(15430)sin(30—10)

cos’ (5) cos(15+5)| 1+
cos(15+5)cos(5—10)
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’ 1 ’ 2 1 2
P, :57 H K, :5*18*6 *0.387=125.4 kN /m
P!, =P cos(0. +6,)=1254%cos(15+5)=117.8kN /m
Alsalad) dgamell pos-c
cosf.coscx cos(5)*cos(10)
P =qgHK, ————=20%6*0387*———————— =457kN/m
q a
cos(@—ar) cos(5—10)
o= Pq.cos(d; +6,)=457*%cos(15+5)=43kN /m

W, =@ +arccor| tan(g'—6,)+—— \/5in(5;+¢l)c°s(“a—03>

cos(¢'—93) sin(¢'—0€a)cos(§; +(9a)
i 1 \/sin(15+30)cos(10—5)
W, =30+arccot| tan(30—5)+ =555°
cos(30—5) \/ sin(30—10)cos(15+5)
ad| p811-2

o

PPN _ r_ o r_
0,=10", a,=0,¢'=30",0,=—15

cosz(¢'+ﬁp)
K,=
in(@'—0" )sin(@d' +a )
coszgpcos(d;-l-gp) 1— i@ /:5 / P
c05(9p+5p)cos(9p—ap)
cos” (30+10)
K,= ~=38

sin(30+15)sin(30+0)

cos’ (10)cos(—15+10)| 1—
cos(10—15)cos(10—0)

=ty H? k= Lr18+27*38-136.8kN/m
2 2

ro_ S [ _ % _ —
Pplh—Pp.cos(5p+9p)—136.8 cos(—15+10)=136.34kN/m
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J=!
K = cosz(¢'—t9a) :
sin(é‘; +@")sin( ’—aa)
c0529a cos(§;+9‘a) 1+ ; 4 /
cos(é‘a +9a)cos(93 -a,)
cosz(30—0)
K,= > =0.3014
sin(15+30)sin(30—0)
cos’ Ocos(15+0)|:1+ \/ }
cos(15+0)cos(0—0)
in(0, +¢)cos(a, —6.)
W, =@ +arccot| tan(¢p' —0,)+ ,1 il ; #)cos p
cos(¢ —Qa) sin(¢ —Ola)cos(5a+93)
[ 1 \/sin(15+30)cos(0—0)]
W, =30+ arccot| tan(30 —0) + =56.9°
cos(30—0) \/ sin(30 —0)cos(15 +0)
‘ d=1m ‘b=5m ‘
q
_ Yy V A
d Tan ¢’=1*tan(30)=0.58m
/J d (Tan ya- Tan ¢’)=1*[tan(56.9)-tan(30)]=0.96m
[0 % 1B (d+b) Tan ¢’- d Tan y,=6*tan(30)-1*tan(56.9)=1.93m
(d+b) (Tan y,- Tan ¢')=6*[tan(56.9)-tan(30)]=5.74m
/W 1
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O'q=q./(a,q

. = sin(y, — @) _ sin(56.9—30)
“9 cos(Wa—(ﬁ'—é:—@ ) cos(56.9—30—15—0)

a

o, =q.Ka,q =20%0.462=9.24kN/m/m

=0.462

g.b

9m = Ka,q,h
H, —H,

g.b sin(y, —¢5l)cos(5&'Y +(9a)

_Hz —H, ' cos(y, —¢' =5, -6,
_ 20*5 sin(56.9—30)

=8.5kN/m

6—0.58 cos(56.9—30—15—0)

o=y HK, =18.85%6%0.3014 =34.1kN /m

' _H ' _6* _
P =0 =—*341=102.3kN/m
' 2 2
H
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d=1m b=5m
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o LS dilismlge sl Lyl
0=12°: Jo8lLadl e lazll alsdl 4z sl (ue ol
§=34°: Hlazdl Cals 20 s 1) SN
O'=2/3¢ 1 slazlly 2p,U e IS gl
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Kv=0: dlata Ji510 dds8ladl 48,1
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Jall
_ cos® (¢' — 6 - )

cos® @ cos B cos(5' + 0 +ﬁ){1+ {sin(&’ +¢)sin(g’ -~ _ﬂ)} }
cos(o'+ 0+ p)cos(d —a)

and

= S Ky -
B =tan [1—ka (5-51)

Ladl oy, ¥ )il A1

0.42

Ky =(1.45-2)Z =(1.45-0.4)*0.4=0.42= f = tan_l(T) =22.78° =0.398 rad

2 — —
A cos’(34—12—22.78) _og7

ae . . 1/2
C0s%12 c0522.78 c0S(22.67 +12 + 22.78){1{S'”(22'67+34)s'”(34_0_ 22.78) } }
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K

ae

cos’(34-12-10.15)
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cos(3+0+6.12) cos(0-6)
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Pl=—y'H" K ,=—*18.85%6" *0.3465=117.6 AN /m
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AP =P —P'=1351—-117.6=17.5kN/m

H
AP’ (06H)+P —
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Crae =\/ltan(¢'—ﬁ—aa)Jltan(¢'—B—aa)+c0t(¢'—ﬁ—93)u1+tan(5; +,E+l9a)cot(¢'—,g—(93)J
Crpe = \/ [tan(30—6.12—6)][tan(30 —6.12 —6) + cot(30 —6.12 — 0) ] [1+ tan(3+6.12 + 3)cot(30 —6.12 — 3) | =1.065

re =1+ an(8] + B +0)an(p - B—a,)+ con' - F-0,)]
€200 =1+ [1an(3+6.1243)][1an(30—6.12—6) + cor(30—6.12—3)|=1.414

B [ —ran(30—6.12—6)+1.065|
W . =30—6.12+tan =515
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K = cos’(¢' - 60— fB)

cos? 6 cos B cos(d’ + 9+,B){1+{Sin(5, £#)sin(y’ - a _ﬂ)} }
cos(8’ + 0+ S)cos(6 — a)

and

B=tan™ Ko |2 tan‘l(o'lj =5.35°
1+k 1+0.067

v

2 p— p—
K - cos” (30—0-5.35) 04155

sin(3+30)sin(30-6-5.35) | °
c0s(3+0+5.35) cos(0—6)

cos? 00s5.35 cos(3+0+ 5.35){1{

P = %*18.85*(1+ 0.067)*(6)? *0.4155=150.4 kN /m
P/ =117.6 kN/m

AP =P —P=1504—117.6 =32.8kN/m

H

AP, (06H)+P —

. 3 32.8%0.6%6+117.6%2
P P! 150.4

ae

=235m

- tan(¢’ _ﬁ - aa) + Craee :|

CZaE

V=0 - B+ tan'{

Cue =|tan(@’ - B —a,)|[tan(4' - B — ) +cot(g' — B —6,)|[L+tan(5. + B + 6, ) cot(g' — B —6,)]

Cee =+/[tan(30—5.35—6)[tan(30—5.35— 6) + cot(30 - 5.35— 0) | [L + tan(3 + 5.35+ 0) cot(30 — 5.35— 0) | =1.0588
Cyoe =1+ [tan(3, + 5 +6,)][tan(y' - B - ) + cot(y' - 5 -6,)]

Cyee =1+[tan(3+5.35+0)] [tan(30 - 5.35 - 6) + cot(30 — 5.35 - 0)] = 1.3696

—aN(@' ~ %)+ Crae } ~30-6.12+ tanl[_ tan(30 _5'225;66) +1'0588} —52.45°

Vae = ¢'_B+ tan1|:

CZae
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g
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Pu =1yw H? = 1 %1062 =180kN /m
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H
ZPW :gzzm
SNl bay -
K, - cos’(¢'—0-p) —
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@*0.2 =0.426
85

h,w

i3 =Tan’l(%) =23.07°

2
« _ cos”(30-0-23.07) =0.6387

* . . 12)2
cos” 0 c0s23.07 cos(17.5+0+23.07)41+ sin(23.07+ 35)sin(30—0 - 23.07)
c0s(23.07 +0+17.8)cos(0—0)

P =%*(18.85—1O)*(1—0)*(6)2 *0.6387 =101.7 kN /m

P'oe Gda dlads uyues
Pl =P+ AP,
_ cos’*(¢' - 6,)
a B H ! 1A g i 2
cos” @, cos(. + )| 1+ sm(5a,+¢)sm(¢ %a)
cos(o, +6,)cos(d —c,)
2 p—
K, = COSNE 2} - =0.246
c0s2(0) cos(17.5+0)| 1+ sin(17.5+ 35)sin(35-0)
cos(17.5+0)cos(0-0)
’ 1 ! 2 1 2
P :E;/ H® K, = E*(18.85—1O)*6 *0.246=39.2kN/m
AP, =P, — P/ =101.7-39.2=62.5kN /m
Z,, =0.6H =0.6%6=3.6m
AP . (0.6H)+ P 1
ae " \\Yr a' A * *
7, = 3 _625*36+39.2*2 _ 2 08m ~ 0.5H
e P 101.7
q Ugazl ope Amslill adudl 545
cosB.cosx
Pag=9-H————K, =24%6%1%0.6387 =92kN /m
' cos(@—a)
Z, =066H=066%6=3.96m

iady) gl dbana -
Propn =(Pre FP, V¥ c0s(0, +6,)+ R, =(101.7+92)*cos(17.5)+180 =364.7kN / m

ror,h —
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= =Z./om

ZPf t,h -
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H
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3
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K = cos’(¢'— 60— )
% e N — 2] ?
cos’ 6 cos B cos(5’+9+ﬂ){1+{sm(5 e _a_ﬂ)} }

cos(8'+6+ B)cos(6 — )

and
_ k G
=Tan™| — and k,,=—=Kk
ﬂ (1_kVJ h,w GS _1 h
k,, =22 x02-0321
' 2.65-1
— 0.321
=Tan™ =17.8°
s (1_0)

2(30_0—
« _ cos*(30-0-17.8) > =0.4976

* . 9 1/2
cos®0 cos17.8 cos(17.5+0+17.8)11+ sin{LgEoRiRe )b N GV U TEE)
co0s(17.5+0+17.8)cos(0—-0)

P =%*(18.85—10)*(1—0)*(6)2 *0.4976=79.3kN/m

P Gudas ddads s
Pae = Pa +APae
2041
K, = cos“(¢' —6,) :
cos? 0, cos(s. +6)| 1+ sin(o, +¢')sin(¢' - a,)
cos(o, +6,)cos(6 —«,)
2 f—
K, = cos“(35-0) 0246
c0s?(0) cos(17.5+0)| 1+ sin(17.5+ 35)sin(35-0)
cos(17.5+0)cos(0-0)
S 1 )
P =§;/ H® K, =E*(18.85—1O)*6 *0.246=39.2kN /m

AP, =P}, ~ P, =79.3-39.2=40.LkN /m
Z,p, =0.6H =0.6%6=3.6m
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. P/ 79.3
q Ugezl e 2l adull 353
cos@.cosa
Poo—"9gH—K, =24*6*1*0.6387=924N/m
& cos(@—a)
Z =0.66H =0.66*6=3.96m

:Da,q

iady) el dbana -
P =P, +Pa,q)*cos(5; +0,)+P, +P, , =(79.3+92)*cos(17.5)+180+42 =385.4kN /m

LadY) (ool dliana Ggub dad -

Zy ¥Ry 2y ¥Ry Zp HPy 7

'
P aq.h qa,q

ae,h

tot ,h

79.3%cos(17.5)*2.814+180*2+42%2.4+92*cos(17.5)*3.96 s
= = m

385.4
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